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XD  Both of these numbers are made from the

same three digits.
A 8

B T B

a0 00 500

What are the two numbers?

A=

Tmark
Two of these numbers are not in the two
times table.

14 17 8 21 24

Which numbers are they?

and
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[[E)  +5 chitdren attend after-school football

club.

The whole group s split into equal teams
of five.

How many teams are there?
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Krishna’s new number is 82.

29  krishna thinks of a number. [ 03]
She adds 10toit. . @

What was the number Krishna first Which of these 2D shapes is not a hexagon?
thought of?

Shape
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m 418
372

832

187

141

Match each number with the value of the
underlined digit.




